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(1) Zoology 35 Marks
(2) Botany 35 Marks
(3) Bio Chemistry and Bio Technology 30 Marks
(4) Education Psychology, Education 30 Marks
Evaluation and Assessment, Pedagogy,
Teaching Attitude
(5) General Hindi 05 Marks
(6) General English 05 Marks
(7) General Knowledge of Computer 05 Marks
(8) General Knowledge 05 Marks
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PART - 01 HIT - 01
Zoology St femma

1.  One of the following pairs is not correct : 1. T ¥ F FEE e 9 E 82

(A) Virus - Common cold (A) aRRY - HIEA S
(B) | Salmonella - Typhoid (B) WMl - TAEES
(C) Microsporum - Filariasis (C) TTEhIERH - FEAfEad
(D) Plasmodium - Malaria (D) REIfead - AaREr

2.  The function of ductus choledochus is to 2. TG SiASrHd I HE TH5H FO FE@T 2ar

carry : 2

(A) Ova (A) @l

(B) Bile (B) =g

(C) Urine © T

(D) Sperms (D) ¥
3.  Prototherians have evolved from : 3. TR w1 foee e gen
o (A) Reptiles (A) Y=

(B) Birds (B) wsft

(C) Eutherians A © e

(D) Amphibians (D) TERREA

SPACE FOR ROUGH WORK / T® & & ol 978
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4.  Antibodies are represented as : 4. TR & R w1 A e e o g 2

(A) H2L2 (A) H2L2
(B) HB3L3 | (B) H3L3
(C) HS5L5 (C) H5L5
(D) None of the above (D) ST ° A g T

5.  Ovum receives the sperm in the region 5. 79" fo&g v ¥ wd =) fida s @72

of ;

(A)  Animal pole (A) TS 9|

(B) Vegetal Pole (B) dSfied W

(C) Equator « (€ TRX

(D) Pigmented area (D) fTrmies wfan
6.  Marsupial Kangaroo is : 6. ARETES FE E

(A) Oviparous (A) STERE

(B) Viviparous (B) Tafad=m

(C) Ovoviviparous (C) eAEfafas

(D) A distinct category (D) T fo=1 el

7. In which period of paleozoic era first 7. Uferemes W% fFg Hiae § vom ik

vertebrate appeared ? IR g ?

(A) Ordovician (A) ieEifafyem
(B) Devonian (B) feattram
(C) Silurian () fagfas
(D) Mississippian (D) Tatafafem

SPACE FOR ROUGH WORK / 1% &r& & & 5118
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10.

11.

Anthramycin is : 8.
(A} Antiviral

(B) Antitumor
(C) Antifungal
(D) Antibacterial

Dagnala disease in animals is caused due 9.
to the deficiency of :

(A) Sodium
(B) Silicon
(C) Selenium

(D) Magnesium

A yellow colour in creamy layer of milk  10.

may be caused by :

A) Pseudomonas synxantha

(
(B) Seudomonas syncyanea
(C) Both (A) and (B)

(

D) S. Marcescens

Which of the following group includes all 11.

sexually transmitted disease ?
(A) Hepatitis B, Hemophilia, AIDS
(B) AIDS, Syphilis, Cholera

(C) Gonorrhoea, Hepatitis-B,
Chlamydiasis

(D) HIV, Malaria, Trichomoniasis

T8 H el 31 H ShTH VIR S ©

(A) SEHEAR faese
(B) wEMAW famamatn

Q) (A)F(B) TN

(D) TH. AREHH

e # § fore ae o wft Qergetel eiafics
o § 7

(A) federfen B, fermwiferan, Te@
(B) TSH, WRfRfe™, Hier
(C) I, federfew B, ®mmEfeafaw

(D) TaeTEeE!, woifen, T uiae
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12. The yoghurt is made from : 12,  ANTES ST SRR

(A) Lactobacillus bulgaricus (A) TREfaES THEREE §

(B) Streptococcus thermophilus (B) WRIhIHY IHiftherd 9

(C) S. Cremoris (C) TH. HHREH

(D) Mixed culture of (A) and (B) (D) (A) W (B) & fagu we=x ¥

13. The respiratory centres are located in 13. e g R em €

the :
(A) Cerebellum (A) Hfem d
(B) Cerebrum (B) WemH
(C) Medulla Oblongata (C) e e |
(D) Optic lobes (D) 3Aifcs @se o
A
14. Ambulacral grooves are absent in the 14, ToF® o o Urseionet a1 erufie g § 2
class :
(A) Asteroidea (A) TRRMafem
(B) Crinoidea (B) fedtafem
(C) Ophiuroidea (C) erfEgrafea
(D) None of these (D) T ¥ HiS TR
15. What is the full form of BOD ? 15. BOD 1 Ui €U ¥ :
(A) Biochemical Oxygen Demand (A) STEREE e ferig
(B) Biological Oxygen Demand (B) ISR st feaie
(C) Biometric Oxygen Deep water (C) wmEmfes sifedem g9 9=
(D) None of the above (D) I 1 &l

SPACE FOR ROUGH WORK / % &T¥ & foil g
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16.

17.

18.

19.

Wolffian duct forms : 16.

(A) Oviduct
(B) Urethra
(C) Epididymis

(D) Ejaculatory duct

Study of human population is known 17.

as:
(A) Demography
(B) Anthropology
(C) Geography
(D) Ethnology

Hormone which helps in production of  18.

milk :

A) Prolactin

D) Oxytocin

Amniocentesis is a process of : 19.

(A) Know about brain disease
(B) Grow cells on culture media
(C) Determine disease of the embryo

(D) Determine mutations

eI TR T €

(A) steae

(

(B) UHR.TH.TH. (FSH)
(C) TATA (LH)
(

A) dfErss # Sl

(D) IeaREd ST

SPACE FOR ROUGH WORK / T% T o o g
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20.

Scurvy is caused due to deficiency of : 20.

el forgent et 9§ B § 2

(A) Vitamin A (A) faafmg A
(B) Vitamin D B) fyeif D
(C) Vitamin K (C) faada K
(D) Vitamin C (D) Taarts C
21. ATPis: 21, TWHR:
(A) Purine (A) wH
(B) Nucleoside (B) =IferTarase
(C) Nucleotide (C) fRmERES
(D) Nucleosome (D) gl
22. Where does a repressor bind an operon ? 22, ¥R iR & wel < e 7
(A) Operator (A) ST H
(B) Promoter (B) wHRIH
(C) Inducer Q) TR H
(D) Catabolite activator site (D) hTAIAEE TfeRde |5e o
SPACE FOR ROUGH WORK / % &1 & o e
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23,

24.

25.

In DNA helix, cytosine pairs with guanine 23.

by :
(A) Phosphate bond
(B) Covalent bond

(C) Two hydrogen bonds

(D) Three hydrogen bonds

Type of placenta found in human is  24.

called :

(A) Discoidal

(B) Cotyledonary
(C) Zonary

(D) Diffuse

Division of human egg is . 25,

(A) Holoblastic and unequal
(B) Meroblastic
(C) Holoblastic and equal

(D) Isoblastic

2T BT B WEEEE SR % Wy

FEME -

(A) .Wa‘a%m

(B) HRRI= Y % g

(C) T EEGSH SY % g

(D) i SRS 99 % g

T ¥ T TR 1 vl 9T ST 7

A F T 1 fgsem g €

(A) TS o ST
(B) wRiea<e®

(C) Trii=® o T9H
(D) eEERARESR

SPACE FOR ROUGH WORK / T% & & o1& s
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26.

27.

28.

Analogous structures are : 26.

(A) Structurally similar
(B) Functionally similar
(C) Normally non-functional

(D) Structurally and functionally

similar

Blue revolution is related to : 27.

(A) Crops
(B) Oil seeds
(C) Fisheries

(D) Energy source

Which is a type of bacterial disease ? 28.

(A) Amoebic dysentery
(B) Athlete’s foot
(C) Diphtheria

(D) Influenza

(A) ST H §HH
(B) M ¥ 99
(C) HMra: AH-TheRTe

(D) E= 9 % § gEe

= ey forad weifim €2

(A) ®Ed

firet F @ i W e S §7
(A) swifos fedd

(B) TufeiE® §2

(C) feuifen

(D) =RET™T

SPACE FOR ROUGH WORK / T% & & {3 wve
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29.

30.

31.

32.

Ichthyophis is a : ' 29.

(A) Limbless amphibian
(B) Limbless reptile
(C©) Worm

(D) Limbless mammal

The possibility of introducing correct 30,

version of the defective gene in all cells of
the individual is achieved by :

(A) Germ line therapy
(B) Somatic cell therapy"
(C) Gene augmentation therapy

(D) Corrective gene therapy

Which of the following is a communicable  31.

disease ?

(A) Diabetes

(B) Hypertension
(C) Kwashiorkor
(D) Tuberculosis

Growth Curve is normally : 32.

A) ] Shaped

(

(B) S Shaped
(C) C Shaped
(

D) Vv Shaped

A) | SR

(

(B) S ¥R
(C) C @T=R
(

D) V 3R

SPACE FOR ROUGH WORK / % & & ol Gmg
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33, An accessory excretory organ is : 33. U&H Q‘@Fﬂ IS ST % :

(A) Heart N (A) =
(B) Stomach | (B) YR
(© Livér ©) T
(D) Intestine ‘ (D) 3ewRTA

34. Incubation period (days) in Gallus gallus 34, ¥rerel ¥rere 7 T iftae e et w0t

is : RIS ? ’
(A) 11 (A) 11
(B) 21 (B) 21
(© 24 | C) 24
(D) 28 (D) 28

35. Animal having both setae and nephridia 35, % S foed €@ 3 Aftrfea 3 T W@

is : g:

(A) Sea anemone \ (A) it THEE
(B) Sea pen (B) W
(C) Sea mouse - (C) it 1Sy
(D) Sea urchin (D) & s

SPACE FOR ROUGH WORK / Y% T8 & &g s
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36.

37.

38.

PART - 02

Botany

Which of the fOllowing-tissue farms 36.

Interfascicular cambium ?
(A) Xylem

(B). Phloem

(C) Pericycle

(D) Medq_llary rays

Which of the following is a cause of sickle 37,

cell anaemia ?
(A) Dominant gene
(B) Recessive gene

(C) Both (A) and (B)

(D) Duplicate gene

‘Which of the following embryo sacis four  38.

guclea}ted ?

(A) Polygonum type
(B) Oenothera type
(C) Allium type

(D) Plumbago type

HIT - 02
et foRm

SRR w1 Fmfor 1 3 | " ST
HEae?
(A) EEH (TR)
(B) TR (TIVTR)
(C) Ty
(D) et et

figereT e TR 1 RO B H | B

%?

(A) TR ST

(B)  STHEl Sl
© (A) T @I
(D) gferre S

foret & 9 T W1 YOI IR HHA T

(A) AT ¥R
(B) AT WHR
(C) TEAFH FhR
(D) IS TR

SPACE FOR ROUGH WORK / & &Td % ford wrg
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39:

40."

41.

Which of the following is a mitochondrial

inner membrane enzyme ?
(A) Mofioamine oxidase
(B) Cytochrome oxidase
(C) Hexokinase b

(D) Acyl co synthetase

2

Which of {t"he:_forl'lgom'/‘irig hormone is mostly

used in Tissue Culture ?

(A) Auxin
(B) Gibberellins
(C) Cytokinin

(D) All the above

Bio concentration factor value is lowest

for which of the following chemical ?

(A) Benzene
(B) Carbon tetrachloride
(C) D.D.T.

(D) Chloroform

39.

40.

41.

7 H | BN 91 URemivgar Ji fad fafy
EIRCETS -V

(A) TR sfrERw
(B) WEeRRM Iiifeew
(C) RIS

(D) TEEA Fi faverey

T gadT  fre § @ g emt %1 s9gm

I AR BT ?

(A) SAffeET

(D) I |eft

S W SR w1 AW e A ey e
H I HH Y ?

(A) S=i

(B) e SErRINTES
(C) <LEhe

(D) ARI®H

'SPACE FOR ROUGH WORK / % @18 & fordt smie

Set -'A
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42,

43,

44,

Which of the following condition is
essential for Micropropagation ?

(A)
(B)
©)

Higher Light intensity
Controlled temperature
Defined Nutrient medium
(D) All the above

If the distance between a and d gene is
15 map unit, a and ¢ gene is 18 map unit,
aand b gene is 10 map unit, b and d gene
is 5 map unit, d and c gene is 3 map unit,
then which of the following will be the
order of genes in genetic map ?

(A) a=»b—=>d-oc
(B)
©

D) a»d—c—b

a—>b—oc—od

a>d—ob-oc

If number of Phenotypes produced is
eight, then which of the following will be
the number of heterozygous gene pairs
in hybridization ?

(4)
(B)
©
(D)

One

Two

Three

Four

42.

43.

44.

en R ¥ faw fr § @ i e
HETF T ?

(A) 3T FeRr o
(B) TP araHm

() fafre e AreaH
(D) SoE |t

qﬁa@?dﬁﬂﬁiﬁﬁﬁqm,aaﬁ?c
S % gt 18 AU T, a IR b T A Th
10 B9 THE W b i d S 5 91 d 3R ¢
3 A9 STE 1 g T B At S o e i
Fq 4 fret 9 i 2 ?

(A) a-»b—-d—c
(B)
(©)

D)

a-sboc—d
a—»>d—->b-c

a—>d—c—b

I T IS HAISEY G 8 § W
F g S Sifedt ) den fe 4 9
fopertt Bt 2

(A) =
(B)

©

(D) =R

SPACE FOR ROUGH WORK / T% &T& & &t s
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45,

46.

47,

Respiratory roots are found in which of

the following plants ?
(A) Hydrophytes
(B) Xerophytes

{C) Halophytes

(D) Mesophytes

Match the following :
(a) Copper (i)  Whip tail disease
(b) Zinc (i) Heart rot disease
(c) Molybdenum (iii)
(iv)

@ () (o) (d)
(A) @) Gv) @) @
(B) (i) (@v) () ()
© @) @ @Gv) @)
(D) (i) (i)

Die back disease

(d) Boron Little leaf disease

Terminalization is found in which of the
following stage ?

(A) Leptotene stage
(B) Zygotene stage
(@) Dif)lotene stage

(D)

Dikinesis stage

45.

46.

47.

voE o T 5 9 for ol F wid s £7

(A) SRR
(B) WY
(©) T
(D) ¥R

() =TI
TR T W

(A) () @v) @@ @)
B) (@) Gv) @ @)
© @ @ @Gv) @)
(D) (i) (i)

Ui T H § T staeen & e s
g7

(A) T steeen
(B) g™ A 1w
(©) famg srareen
(D) YRR STaen

SPACE FOR ROUGH WORK / T% &8 & fo& sg



48. How many microspores are formed by 48. EEYH T o &g SY] WY IR & T
microspore mother cell in family A w7 S e frer § | ferat
cyperaceae ? AT ?

(A) Four (A) =X
(B) Two (B)
(C) One ©
(D) Numerous (D) %

49. Which of the following Ecosystem is lotic ~ 49. Frer § § @A @ itfeafae o wifes TR

type of Ecosystem ? =1 iftfearfas A8 2
(A) Pond (A) e
(B) Lake (B) did
(C) Spring (C) =
(D) Swamp (D) TR
50. Steroids are group of which of the  50. @ﬂs@%ﬁﬁﬁmw%?
following ? f
(A) Carbohydrate (A) FEEESE
(B) Lipids (B) Tafrs
(C) Proteins (C) WA
(D) Nucleic acid (D) (T 3T

SPACE FOR ROUGH WORK / T% &Td & fo&l s
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51. Match the following : 51, Sfem dey wifed :
(@) Cyathium (i)  Sunflower (a) AR () YEoE
(b) Verticillaster (i) Euphorbia (b) FHTH () gwIfeE
() Hypanthodium (i) Ocimum (c) el (i) gerEt
(d) Capitulam (iv) Ficus (d) HUeH (iv) TR
@@ (b) (o (4 (@ (b) (9 (d)
(A) @) @) @ (@) (A) @) @) @ (@)
(B) (@) (v) () () (B) (@) @v) @) @)
© @ @) @) @ (© @ @) @) (@)
(D) @) @ @) @) (D) @ @ (i) (v)
52.  Which of the following is an example of 52, {70 9 % Hger {3 STomel 1 ST
synandrous condition ? €?
(A) Cucurbita (A) FEpAlerT
(B) Marigold (B) T
(C) Pea ) =
(D) Rosemallow (D) e
53. Pasteur’s effect is associated with which 53, T¥=R yw fr7 § & fred deifg 7
of the following ?
(A) Photosynthesis (A) T HITI
(B) Aerobic respiration (B) wrEEE vowA
(C) Anaerobic respiration (C) 3eTerEa yore
(D) All the above (D) ST §eft
SPACE FOR ROUGH WORK/WW&?WW
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54.

55.

56.

Which of the following is a rooted floating
plant ?

(A) Lemna
(B) Pistia
(C) Azolla

(D) Nymphaea

Octave band analyzer is used in
measurement of which of the following ?

(A) Air Pollution
(B) Water Pollution
(C) Soil Pollution

(D) Noise Pollution

Which of the following hybridization
method is not used in self pollinated
crops ?

(A) Pedigree method
(B) Bulk method
(C) Back cross method

(D) Synthetic cross method

54.

55.

56.

e | Qi feor et wed § 7

ST S TAAESH 1 39a =1 § 9 fohereh
e % T fman sman &2

(A) Y HEA
(B) I AR
(€) T[T

(D) =T wgE

T wee § Fre 9 e g fafy
1 YA Tl o s § 2

(A) et fafy

(B) o fafy

(€ % wid fafy

(D) Hwifa e fafy

SPACE FOR ROUGH WORK / 1% &Td % ferdl s
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57.

Woody climber plants are example of  57.

which of the following ?
(A) Commensalism
(B) Proto co-operation
(C) Mutualism

(D) Parasitism

HISTY e Uy et § 9 fegen sere
%72

(A)  wHAETH
(B) Wl - SATRYN
(C) & RIFHINE
(D) wESitferan

58. Which of the following succession begins 58. @Ml W YRY B 9ol stRAw et o 9
over Rocks ? FEAAE?
(A) Lithosere (A) Tawfam
(B) Psammosere (B) EwiifaeR
(C) Halosere (C) TR
(D) Hydrosere (D) RSN
59. Which of the following Bio-geochemical ~ 59. =1 H @ 1 W1 S{9- \ramf e <k sraame)
cycle is not a sedimentary cycle ? GER
(A) Phosphorus cycle (A) TRRRE <
(B) Calcium cycle (B) Hiwraw =%
(C) Sulphur cycle (C) HTH <k
(D) Carbon cycle (D) HEA TH
60. Which of the following is largely found 60. STEQSSEl § SARRR 9@ S ool UL
endosperm in Angiosperms ? A ddaawE?
(A) Nuclear endosperm (A) iR Yoy
(B) Cellular endosperm (B) =ittt yordry
(C) Helobial endosperm (C) Tlforaat yordr
(D) Mosaic endospérm (D) WIS Yoy
SPACE FOR ROUGH WORK / % &Td & 9 W
Set - A 20 0129/ TE-BIO/RCE-M



61. Which of the following type of Ecological ~ 61. qeSitelt e e % forg wikfefas frafme

pyramid is formed for parasitic food A d A frg TR FT B B ?
chain ? ->

(A) Upright (A) e

(B) Inverted (B) s

(C) Both (A) and (B) (©) (A) W (B) =

(D) None of the above (D) SR H W B T

62. Which of the following tissue is a living 62. Toea 9 [ 9 w1 Faeh Sitfoa 77

tissue ?

(A) Vessels ’ (A) efewrd
(B) Tracehids (B) fefeRrd
(C) Wood fibres (C) e Tg
(D) Xylem Parenchyma (D) STEH gt

63. Cattles are an example of which of the 63. waSN fr W @ forger AW R ?

following ?

(A) Incomplete dominance (A) ST FeIFer

(B) Co-dominance (B) WE-guIfera

(C) Multiple allelism (C) wfeewer Teiieied
(D) None of the above (D) ST H | HE T

SPACE FOR ROUGH WORK / T% &M & for&f S
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64. In Begonia, Vegetative propagation  ¢4. fomifrar & axff worm f & & frad g
occurs by which of the following ? BT e ?
(A) Root (A) g
(B) Stem (B) @
(C) Leaf (C) Tt
(D) All the above (D) ST gt
65. Which hormone counteracts to Apical 65, Ul § viY T&=aT % Ui i ey gl
dominance in plants ? ETGIRY
(A) Auxin (A) At
(B) GA (B) iy
(C) Cytokinin (C) wiEEEiA
(D) All the above (D) ST At
66. Which of the following has maximum 66, dfyae a9 & Tog 1fus A f & @
contribution in Global warming ? forgem §2
(A) Industrial processes (A) i giwant
(B) Deforestation (B) THEA
(C) Agriculture (C &Y
(D) Energy use (D) <=1 =1 ITEM
67. Corn is an example of which of the 67. TFH = U 9 forme e €2
following ?
(A) Geitonogamy (A)  SERFH
(B) Xenogamy (B) SRR
(C) Autogamy (C) st
(D) None of the above (D) SWH H W HE 781
SPACE FOR ROUGH WORK / T% & & fd e
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68.

69.

70.

Which of the
Photophosphorylation is largely found in

following
green plants ?

(A) Non cyclic Photophosphorylation
(B) Cyclic Photophosphorylation |

(C) Both (A) and (B)

(D) P.SI. Photophosphorylation

Which of the following has minimum
% global hydrocarbon emission ?

(A) Petroleum
(B) Oil
(C) Gasolin

(D) Coal

Single cell protein is obtained from which
of the following ?

(A) Yeast
(B) Algae
(C) Bacteria

(D) All the above

68.

69.

70.

B gredl | SgEEl qrEr s grel
FreTEERH F & §HE |2

(A) STEHT HETRERRIHT

Ao TESIHET oS A % WH A H |
fore foT vl 9 £ 2

(A) OiferEm

(B) d
(C) e

T IR W e | § e e e
SR ?

(C) iy
(D) T !

SPACE FOR ROUGH WORK / T% &t & fodt s



‘PART - 03 HT - 03
Bio (fhehiistry and Bio ECRCIPERCRSE K CEiCa)
Technology
71. Which one of the following is not a  71. = ¥ & TTeqanit & €M oen w6 &
renewable exhaustible natural resource ? B ST HHIEA & ?
(A) Aquatic animals INEESEE
(B)  Wild life (B) & SfterT
(C)  Soil fertility (C) TR SE
(D) Minerals (D) @
72. Catkin yew - Assam 72. IR G - ST
Ebony - Karnataka AT - FHAEH
Spider wort - Madhya Pradesh TEST 2 - AL Y9
What is common among them ? T HH R AN | ?
(A) Endangered Indian plants (A) < I AR Y
(B) Endangered Indian animals (B) ¥W W MR SR
(C) Extinct plant species (C) faqga did genfa
" (D) Extinct animal species (D) foree STFeR ST
73. Patent right is : 73. Wz AR TaT ¥
(A) Limited Period Right (A) dHiffa srafy sifyer
(B) Territorial Right (B) TRITE HAfHR
(C) Absolute Right - (C) YOI AR
(D) Both (A) and (B) (D) (A) T (B) Sl
. SPACE FOR ROUGH WORK / T &Td % 18l w178
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74,

75.

76.

Name the enzyme which is silenced to
delay the ripening process of fruits.

(A) Polygalacturonase
(B) Glyphosate
(C) ADA

(D) P53

The techniques used to detect the presence
of DNA or RNA in a non-fractionated
DNA sample is :

(A) Dot - blot techniques
(B) In - situ hybridization
(C) Colony hybridization

(D) Western blotting

Acquiring genetic material of another
human being without his or her
permission is called :

(A) Gene cloning
(B) Gene theft
(C) DNA fingerprinting

(D) Gene therapy

74, < TSEH A ST o TR

75.

76.

¥ gRT 1 iHa i et e e S R

X sfanferd DNA T3 5 DNA 19d1 RNA
#t suftefy w1 frako 0 % fag swEm 9
a1 s e fafy & ¢ '

(A) sle-wiie fafy
(B) w-fag dwtu
(C) IAM! HehT
(D) A=A =AM

S T R T R o e

ST T SIS HTAT FEEA B ¢

(A) A FAHT
(B) ST Thalt
(©) DNA et BT

(D) e eRt

SPACE FOR ROUGH WORK / Y& T & foa s
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77.

78.

79.

80.

Identify the correct match between tiger
reserve and its state :

(A) Manas - Assam

(B) Corbett - Madhya Pradesh
(C) Bandipur - Tamil Nadu
(D) Pelanau - Orissa

Great gene robbery controversy in India
is related with the robbery of germ plasm
of :

(A) Rice

(B) Wheat
(C) Brinjal
(D) Cotton

In a developing embryo stem cells can
differentiate into :

(A) Ectoderm
(B) Endoderm
(C©) Mesoderm
(D) Al of above

In PCR Taq polymerase is used because
of its :

(A) high fidelity

(B) high speed

(C) low thermal stability
(D) high thermal stability

77. <R fod v 9 % G A H wemi:

78.

79.

80.

(A) Y - THH
(B) FRIT - A W
(C) SR - firerrg
(D) T« - sifemn

9RA 1 YT S At (S sHat) foemg
feraet Sa ghdt oH wIeE W Wrefea § 2

(A) e i
(B) TEH

(C) W =
(D) U ®

T Forfer SR o % S BiRr frdf
?fﬂ'ah'cﬁ%

(A) TmErREHH
(B) WoereH H
(C) frdied o
(D) S asft H

PCR # &7 Wifemist o1 ST foman e &
Tk T0H B R

(A) =9 feat

(B) ==

(C) fr= adta feeran

(D) 3= g feeman

SPACE FOR ROUGH WORK / T% &1 & fod e

Set - A

N0/ TE_RIN/NCE_N



81. UPOVis: : 81. UPOV ®:

(A) _Convention. for plant variety (A) EICIRCAREIECRICTUN
v(B) United States patent | (B) FAELS wWeH WL
(C) Convention for patent (C) U@ HR

(D) None of the above (D) IR H | I T8l

82. Southern hybridization method is used to 82. wed wsfasweye fafy @ ?;'Q?ﬂ"T f= %

identify : e % for fohent T % -
(A) a specific RNA (A) T fafire RNA &
(B) both RNA and DNA (B) @I RNA T8 DNA %
(C) a specific DNA (C) T fafie DNA %
(D) a specific protein (D) T fafire W& %

83 Who discovered restriction enzymes ? 83. duw TemEd (Ygwm T=EH) Tt QIS &

of :
(A) Nathan, Arber and Smith (A) M, TR TE Ty
(B) Boyer and Cohen " (B) SR WH e
(C) Jacob and Monad (C) S T HAE
(D) Watson and Crick (D) dies T fsheh
84. Animal symbol of W.W.F.: 84, W.W.F. 1 ug Wi ©
(A) Red Panda (A) T UiEl
(B) Giant Panda (B) Wige e
(C) Tiger: (C) <eTWR
(D) Kangaroo (D) &R,

SPACE FOR ROUGH WORK / % &4 & o sig
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85.

§6.

87.

In plant tissue culture the phenomenon
of the reversion of mature cells to the
meristematic state leading to the
formation of callus is known as :

(A) Redifferentiation
(B) Dedifferentiation
(C) Both (A) and (B)

(D) None of these

Endemic species are :

(A) rare species

(B) critically endangered species
(C) threatened species

(D) species localized in a specific region

Why is CO, often used in an incubator to
culture mammalian cells ?

(A) Tocontrol or prevent viral/ bacterial
contamination

(B) To control the pH
(C) To control oxygen consumption

(D) To control cell growth

85.

86.

87.

Wi TRt A st e
?ﬁéﬁ@ﬂﬁﬁhﬁﬂﬁmﬁwﬁ
(A) A

(B) fafdes

(C) (A) T (B) ¥

(D) =79 | =g &

TenTteR S et ¥

(A) et il

(B) TR €9 W qWUR yenia
(€) w® H yenfa

(D) Tafire oM =t <o yeufa

AR FREE F GaT ¥ sREe o
CO,, 1 ST foFan S €, i

(A) TooTo) U Sty Hewor st e/ FreEe
HH T

(B) pH frEw &g
(C) siferitST o freaw 3
(D) wifkr gfg Fresm }g

SPACE FOR ROUGH WORK / 7% & & &8 s



88.

89.

90.

Which of the following movement was

. carried out for the conservation of forest

and the enviornment ?
(A) Forest movement
(B) Ganga Action Plan
(C) Tehri Andolén

(D) Chipko Andolan

Which one of the following has maximum
genetic diversity in India ?

(A) Tea
(B) Mango
(C) Teak

(D) Wheat

The process of converting environmental
pollutants into harmless products by
naturally occuring microbes is called :

(A) Ex-situ bioremediation
(B) Intrinsic bioremediation
(C) Extrinsic bioremediation

(D) None of these

88.

89.

90.

T TS TATeRoT T ¥ ST T SR
T ?

(A) T SAEIEH

(B) 7T T W
(C) &l s
(D) o=t etiRrer

wra # et o 9 Torad gerd sy st fafare
LIRS )

FTER F GZIO I AR GEASEl g
Y B S vered | Sge hi Wishar weat
¥

(A) TFR-Tag SErTEm

(B) TR SErqEm
(OEREEHEERS G|

(D) T ¥ & 77l

SPACE FOR ROUGH WORK / % @14 o foi&t s g
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91. In human the method by which the 91. wI=I ¥ 7 fagr Ty wd YT TYRU
babies produced by In vitro fertilization qHATH G ST Tl ! HEl W T ;

and embryo transfer was called as :

A) In vitro-In vivo child

( (

(B) In vitro child B) ot ===
(C) Test tube babies (C) T= =@
(D) All of these (D) 9 |t

92. PBW34 variety considered as first gene 92. PBW34 WSl YR i Ugell S Sohdl |

theft of India. It is variety of : AT BE TSI ©
(A) Cotton (A) U
(B) Mango (B) T I
(C) Wheat (C) Mg
(D) Rice (D) =rEre
93. Alpha 1 antitrypsin deficiency cause : 93. TR 1 TRITCTHA =t FH | e/ 8

( (A) S T A i SR
( (B) Sl U Ted W s
(C) Kidney and Brain disease (C) Ik W ATk i S
( (D) &3 Td AfaTeh H {wr

A) Lungs and Liver disease

B

i

Lungs and Heart disease

D) Heart and Brain disease

94, SERPINA 1 gene code is for : 94. SERPINA 1 S %2 forgeh faq €72
(A) @ antitrypsin (A) oy IR R
(B) B, antitrypsin (B) B, TR
(C) o trypsin QO o foudi=
(D) By trypsin (D) B fewei

SPACE FOR ROUGH WORK / T% &9 & o9 g
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95. PR (Intellectual Property Rights) protect ~ 95. PR (Sifigeh Froa ) FRam T ?

the use of information and ideas that are SR E faaRl SR R
of :
(A) Ethical Value (A) sforera qe
(B) Social Value (B) HmIfSTh I .
(C) Moral Value (C) s T
(D) Commercial Value (D) SATEIaS Hed
96. Telomeric sequence are found in : 96. Toeimfer STHT I8 9K ¢
(A) HAC (A) HAC#
(B) BAC (B) BAC ¥
(C) YAC (C) YACH
(D) PAC (D) PAC ¥

97. Name the first transgenic virus resistant ~ 97. W¥H i fersmop wferedt @S w AR

plant.

(A) Rice ' (A) =
(B) Cotton (B) &9E
(C) Tobacco (C) =R
(D) Tomato (D) 29X

SPACE FOR ROUGH WORK / % & & fort sg
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98. A programme to identify complete gene ~ 98. SiHHI® DNA ¥ YUl S WA H) qew
structure in genomic DNA : T o T ST T o %
(A) SWISSPORT (A) TEIRE (SWISSPORT)
(B) BLAST (B) R (BLAST)
(C) GENSCAN (C) S=hT (GENSCAN)
(D) Philip (D) hIfeTT (Philip)
99. Hot spot areas have : 99. T TN IEH AR :
(A) Low density of Biodiversity (A) S fafagar & F7 w9
(B) Only endangered plants (B) Toh qawm 99
(C) High density of Hot springs (C) T SI-WId BT ST T
(D) High density of Biodiversity (D) & fafaeran &1 =9 w7
100. A vector musthave which of the following ~ 100. T& a1e® d frefafes § ¥ #7 4 707 €R
properties ? =ife ?
i MCS () TwHw
(i) Small size (i) DRI IMER
(i) Multiple ori (ifi) <TEIR STRI
(iv) Low replication (iv) =1 wfosfa
(A) (@), (i), (i) (A) (1), (i), (ii)
(B) (i), (iii), (iv) (B) (i), (iid), (iv)
©) @) (i), (v) (©) (), (), @v)
(D) (), (i), (iv) (D) (i), (i), (iv)
SPACE FOR ROUGH WORK / % &9 & &l e
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PART - 04

Education Psychology, Education

Evaluation and Assessment,
Pedagogy, Teaching Attitude

101. As per National Curriculum Framework

2005 “The association of work with

education is indispensable” means :

()  The development of co-operative
mindset by the means of education.

(Il) Preparation for the participation in
economic and social change.

(A) only (I)
(8) only (I
(©) (D) and (II)

(D) Neither (I) Nor (II)

102. The problem solving method is not suitable

for lower classes because :
(A) Ttis a time consuming process
(B) Students are less interested

(C) Students do not possess sufficient
previous knowledge

(D) There are no committed teachers

101, TS qroTEE] TN 2005 % AR HH

102.

%7 foen | S STfEr &7 S ©

() foen gR SRRl HT AFARIRAT
[EETE|

(1) enfefen iR wrfees seeE o wrieRt
% forg Tary

(&) e ()
(B) e« (IT)
(©) (@ (I
(D) = (1) &R A (1)

B el % g THea-wHH fofd sagsR
T & il

(A) 9% e TWa T Sl Wi ©
(B) foremeff v wfa o €
(C) Toreneff 3% W watw @ 9 TR

(D) wiqes foes 781 8

SPACE FOR ROUGH WORK / T% el & ol 778



103.

104.

105.

106.

To enhance the efficiency and
professionalism a teacher should :

(A) attend a skill enhancement
programme

(B) Dbecome a part of formal/non-formal
teacher’s association

(C) both (A) and (B)

(D) none of the above

Creativity is a branch of :

(A) Industrial Psychology
(B) Educational Psychology
(C) General Psychology

(D) Personality Psychology

Good teaching is a function of :

(A) Sincerity and devotion to the
profession of teaching.

(B) Principal’s powerful leadership in
the school.

(C) High academic qualificaﬁons of the
teachers.

(D) High level scholarship of the
teachers.

Characteristics of good test is :
(A) Validity

(B)  Reliability

(C) Objectivity

(D) All of the above

. Toreren o1 =feq fom gamar o7 saanfas fomm

Hfaueas:
(A) R fomre wRHT § i o

(B) TH o=/ sTrvania foee @
F TS T

(C) (A) 3R (B) T

(D) SR H ¥ K T

. YO Teh AR ¢

(A)  irifes Afasm
B) Toan wAfaEm

(C) HM FAIfaRE
(D) =R wAIaaA

. IH ST T ©

(A) STEATOH ZEEE % i €AFeRl iR
frsst =

(B) o ® W w1 WY A H

(C) Thereni =it 3=1 SToRTeiTe IRTEl

(D) fharki =t 3= W) =1 fagan =1

(A) dea

(B) Tavawtaar
(C) a&gfTssm
(D) IR g4t

SPACE FOR ROUGH WORK / % & & el wg
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©107. A teacher can play a significant role in
making gender friendly environment by :

(A) making classroom environment

gender sensitive

(B) ensuring greater participation of
girls over boy students

(C) giving more marks to girl students

(D) none of the above

108. In which category the students whose
behaviour is abnormal or create improper
problems are categorized ?

(A) Backward Children

(B) Mentally Retarded Children
(C) Problematic Children

(D) Gifted Children

109. What can be the main methods of
assessment ? ‘

(A) Individual assessment

(B) Collective assessment

(C) Assessment through classmate
(

D) All of the above

110. The nature of interaction in classroom is :
(A) Non-verbal
(B) Verbal
(C) Verbal and non-verbal
(D) None of these

107. & senfia s/Eme amarera & ot + &
foreren weerqet yifiert 1 frafe = W R

(A) HE-HET STATER i AT g wage
ERCT

(B) TS I WIGH BN it Jorl H Ia
Ea

(C) D =t st 3fh T

(D) IR | | HIE Tal

108. TS =R § *1E S s1@m= o et €
1 wel W ST THEd Sl § IR
R STeTeR] BT T H @ S Fehar § ?
(A) frog I
(B) WeHfg wrR
(C) EHHEHS deTh

(D) iR sTers

109. SThRT % H&A W% HF 9 & THa © 2

(A) ARG STHTT

(B) WHfe® 3ATehel
(C) wEufedl g1 STeher
(D) I A+l

110. wen-el ¥ sfafhan =t yHfa o &
(A)  SI-Hifgsw
(B) Hifew
(C) wifesw iR I-Hifas
(D) T q HI T8

SPACE FOR ROUGH WORK / W% & & a9 wrg



111. “Human behaviour flows from three 111. “WWWE@W@W@W%H
main sources : desire, emotion and oI, HIET AR TR FE A :
knowledge” is said by :

(A) Plato (A) =M

(B) Socrates (B) gHUa 5

(C) H. More (C) W= 5y

(D) A.P.J. Abdul Kalam (D) TWHS. oTsge1 o™ g

112. Which set of activity indicate the correct ~ 112. SITHTHS ek T A TR W Hedl A
approach to Inductive reasoning ? AT T% 9§

(A) Specific instance - observation - (A) fafire bld'ﬂli'— \ﬁqvflehd = w:ﬁw
generalization - verification - AT - o

(B) Observation - verification - specific (B) eI - W - ﬁﬁva‘amﬁ, =
instance - generalization AR ‘

(C) Observation - generalization (C) TR - ‘H|"llfqﬁl°h{”lf— qed9d -
verification - specific instance faféree =g

(D) Verification - observation - specific (D) T - ST - faftre e -
instance - generalization HET TRl v

113. What is the merits of assignment ? 113. TTHE | 1 AH BRI S 2
(A) Seriousness for work (A) F™E & 9 Tefian
(B) More workload on students (B) forenfel=i % wrEdvR =t it
(C) Encouragement of self study (C) TETEAT I WA
(D) None of the above (D) I F HIE TG

114. In the rural sector the responsibility of ~ 114. TTHoT & H wrerfirer e <1 mﬁiﬁ‘@m
primary education lies on : T
(A) Gram Panchayat (A) U T W
(B) District Council (B) e aftog W
(C) Co-operative Societies (C) WEHR Heesli W
(D) Both (A) and (B) (D) (A) ¥R (B) THl W

SPACE FOR ROUGH WORK / Y% &4 & fedl g
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121.

122,

123.

According to George David Birkhoff, the
relation between the complexity (C) of the
object, symmetry/order (O) and aesthetic
measure (m) is :

m
(A) O« =

O

B) mx S

@)

O

€ Co—
c_90
@) 5 o

The role of teacher in a social

constructivist classroom is to :

(A) allow student’s responses to drive

his lesson.
(B) focus on student’s learning rather
than on teacher’s performance.
(C) facilitate the learning environment
where students are encouraged to
be responsible and self governing.
(D) All of the above

Which among the following is/are
point(s) of concern for designing a
curriculum 7

() Evaluation techniques

(II)  Subject matter

(IIT) Learning experience

(A) (D and (1)

(B) (I) and (IIT)

(C) only (I)

(D) (1), (IT) and (IIT)

121.

122,

123.

Siisl Sfers fordie  STHER o #1 Sfeemn
(C), wwfafa a1 %9 (O) afﬁtﬁaaf‘qm&w
(m) ¥ e Tey §

GG
0 3 @)
R Q Q

E
oln
I

o ISR T e H feres w5t e

fras:

(A) ®E @ gfafwEael % orey s w5
e w1

(B) Twerr & et #Y eden faenffdi &
afm W wE Sm e

(C) T s ARy w1 fmin W sl
foreneff St ik smew wrem &
T 3R 53 w. |

(D) ST gt

iR & 9 arewsEn fmtn % weof % w
fermita forg 7€

() v gfefy
(1) fawa =g

() eAferm™ s/gve
(4) (@) R (1)
(B) (IT) &R (111)
(©) =@ (1)

(D) (O, () = (1m)

SPACE FOR ROUGH WORK / & &rd & fod smg
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124. “Ttem Analysis” for standardization of

any test is done in which step ?
(A) Planning the test

(B) Preparing the format of the test
(C) Trying the format of the test

(D) Evaluating the test

124, et OO & YHGEHID & fau ‘g

fergeroor”! for dram | feman s €2
JUETOT Tl AT AT
(B) &Y & UEY M
(C) wierv % ey i Wi
(D)  TRI&9T 1 oA HEAT

125. Demerit of Present evaluation system is : 125. SHM AT JONE! Sl QW T
(A) Development of self confidence (A) STcATIYa i ferenrd
(B) Encourage rote learning (B) & Wl WicwmEAd
(Cy Giving less importance to () Ssiftw fawal | w9 75 Sl
theoretical subjects
(D). Giving more importance to (D) wwaitTe fowdl w1 stfues wee <
practical subjects
126. In which subject, subject related games, 126. &M @ fowa § fawg § deitht g, R,
riddles, stories etc. should be used ? Wﬁf@l amfe =1 A fHar S e ?
(A) Mathematics RIS
(B) Language (B) ™
(C) Science (C) foam
(D) Social Science (D) SN T
127. The word motivation has been originated 127, 3TRTIRU wIsg &1 M1 T TN et vk
from the Latin word. Whose meaning TE Sawad g
is :
(A) Encouraging (A) ST HTT
(B) Pushing (B)  ¥SRRT ST
(C) Pulling (C) wie
(D} Directing (D) fefma e
SPACE FOR ROUGH WORK / T% T8 & o wrg
Set - A 0129/ TE-BIO/RCE-M



128. The method for sequenced study in 128
controlled condition of behavioural and

mental process is :

(A) Experimental method
(B) Observation method
(C) Survey method

(D) Introspection method

129. The correct sequence of the behaviour as 129.

per the taxonomy of manipulative and

motor skills are :

(A) manipulation- precision-imitation-
articulation - naturalization.

(B) imitation- precision-manipulation-
naturalization - articulation.

(C) imitation-manipulation-precision-
articulation - naturalization.

(D) manipulation-imitation - precision-

articulation - naturalization.

130. “Mistakes are not to be covered up; they ~ 130.

are to be used constructively” means : -

(A) Teacher should discuss the errors
made by a student with the entire
group.

(B) Teacher’s focus should always be

on mistakes committed by students.

(C) Mistakes should be used as a tool
for self analysis.

(D) The occurrence of errors should be
avoided.

. et =gaERr s 9T afEa & e
freifera eTomen § FHeg SAeeH S @i fafy

(A)  wENTeTR fafy
(B) ey fafy
() wd fafy
(D) fafiieo fafy

BT 3R EEeT HIvell & eIl %
YR T HIER T Tl HH T :

(A) RTHT -~ TSR - TH - SRR -
EEARERU

(B) TRTT - WA - BLHR - WeHTerahtor -
syt

(C) TTha - TR ~ Fha - ATl -
EEQRETY]

(D) TH - Tohal ~ Werehal - AR -
EEALETU

Tt R AT AT Afeeh SR TS
w9 H 7 H e e ot R
(A) Toreres T foened g =) T Ffedt w0

e N EE W R

(B) Tererw =1 v wea forenedf &1 Tafaa
R e e =R

(C) TAfaEl Wl SARH-Toer o & IgEHT
& w9 H Y H ™ S e |

(D) Ffei =1 B 2ren s =R
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T - 05 134, * ofen =FT SISt BT SFETe 1 o7 B

[ Bt

(A) 3TEUF ST A FHI T

131. Y[S V% i It o fore = foaewed i 1@

¥ eyt gt fawey &1 = HET B (B) S AR horet oI T T

A) gfeTa

() (C) el =T SIS S1fereh e B |

(B) ¥

© ' (D) = Y STETS | Tl & S foh 3
(D) gl fepa aeed ® 2

132, ‘Tielt HRAT Erer w5 el §

(A) B HTT 135. ‘ferem dfe st afafs,
(B) glaaﬁtf]:n g e TS TE |

qT 7 Hd S o6, gL T FAL -
(C) e 3 YRl § P 1 STeHR § 2
(D) SURTYEF N XA

(A) I TR STEhIfeRT

133. 59 2 ¥ Yo% =0 ¥ 28 9EC Bl € 2
(B)  STHTUG YIY SThifeRt

(A) wfoitfas
ErC|
®) (C) F TEhifr
(C) =
(D) e (D) I § =
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136.

137.

PART - 06

General English

The Red Cross gives to people
in need.
Pick out the correct word to fill up the

blank.

(A) ade
(B) aed
(C) aid
(D) aide

My brother and I borrow one another's

clothes.

Indicate the class of the underlined
pronoun in the above sentence by
selecting the correct alternative from the

following :

(A) Reflexive

(B) Reciprocal

(€) Indefinite

(D) Demonstrative

138. The Rambert Dance Company won the

139.

140.

country’s  largest
the Prudential Award.
Which of the following best expresses the

arts prize,

above sentence into passive form ?
(A) The prudential Award has been
won by the ‘Rambert Dance
Company.

(B) Thelargestarts prize, the Prudential

Award is won by the Rambert
Dance Company.

(C) The country’s largest arts prize, the
Prudential Award, was won by the
Rambert Dance Company. -

(D) The country’s largest prize, the

Prudential Award, had won by the
Rambert Dance Company.

Tom wanted to buy the leather jacket
L , his empty wallet persuaded
him not to.

Choose an appropriate conjunction form

the following to complete the above

sentence.

(A) earlier

(B) afterwards
(C) moreover
(D) however

The idiom to hang up one's hat means :
(A)

To make oneself comfortable in
another person’s home

To have respect for someone

To keep a thing secret

To talk nonsense
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PART - 07

T - 07

General Knowledge of Computer WTE? I ASIE IR

141. CPU gets the address of next instruction 141. CPUSH__ H FHIYE B Fet ST
to be processed from : e =1 e figern €1
(A) Instruction register (A)  TRZHRIT USTRT
(B) Memory address register (B) THR tgw MR
(C) Index register (C) 3oeEd TR
(D) Program Counter (D) WM HRUR

142. Which have the largest memory storing ~ 142. ¥ 3iifesha Hifsw @i & o € ©iw
capacity from optical media group ? & € 2 ‘
(A) DVD-RW (A) DVD-RW
(B) DVD-ROM (B) DVD-ROM
(C) Blu-Ray (C) Blu-Ray
(D) DVD-RAM (D) DVD-RAM

SPACE FOR ROUGH WORK / T% T8 & o)l =g
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143. In graphical system, the array of pixels in 143. WSee foeen o, foFat & frerged =t 9ol

the picture are stored in : H_ . H w=r fem s ¥
(A) Memory (A) A

(B) Frame buffer (B) THH L

(C) Processor (C) TET

(D) All of the above (D) 90 gt

144. To spell check which function key you 144, 379 %I H ®aM giell Tel =9 & fod

will press ? gard ?

(A) F5 (A) F5

(B) Fe (B) F6

) F7 (C) F7

(D) F8 (D) F8

145. What is the fuser roller coated with ? 145, FR TeR fwes e afg € € 2

(A) Teflon (A) THIMA

(B) Aluminium (B) Tegfafram

(C) Ink (C) I®

(D) Rubber (D) TR
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146,

147.

148,

PART - 08

General Knowledge

Which of the following is not a
department or institution. of planning
commission ?

(A) Coordination department
(B) Subject department

(C) Super Cabinet "

(D) National development council
Who founded the ’Satyshodhak Samaj’ ?
(A) Pandita Ramabai

(B) Mahadeo Govind Ranade

(C) Mahatma Gandhi

(D) Jyoti Rao Phule

Temperate zone line between which
contour ?

(A) North of tropic of cancer and south
to tropic of capricorn '

(B) North of tropic of capricorn and
south of tropic of cancer

146.

147,

148.

HIT - 08
HH AT

Fretfafia fasmT = S A ST
T

(A)
(B) Towg faum
(C) YR Hfez
RUERREEICINIE

SEERRERI|

(D)

gl SE it e Tere fen e
(A) dfsa T

(B) WewRd T TS

(C) WM

(D) et T gt

sﬂ?hmwﬁsfqm & I FEd § 2

aaa%%@%wqaw‘{@mafw
F U -
(B) w@%w‘@aﬁ%@%#m
F qeW

(A)

(C) Region arounded the equator (C) A% &1 & T 99 % TV
(D) West of the tropic of cancer and east (D) % Y@ % TREH Td FH @1 & et
of the tropic of capricorn TR
SPACE FOR ROUGH WORK / % =tdl % fordt wrmig
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149. Which of the following folk song of 149, Tr=fafea « & HH W S<wTE Tebia o1

Chbhattisgarh is a narration of Purana ? I MAT R ?

(A) Suvageet (A) garita
- (B)  Sarvangeet _ (B) XSG

(C) Kewala Rani (C) e T

(D) Lorki : (D) WREhT

150. In which Article of Indian Constitution 150. YA Gfaum. o anfdes @esar o1 sifysR

the Right to religious independence is 5] 313%?{ o yeq frar e &2
given ? .

(A) Article 25 (A) ST 25

(B) Article 12 (B) &% 12

(C) Article 30 (C) =% 30

(D) Article 38 (D) TSR 38

-00o0- -00o0-

SPACE FOR ROUGH WORK / T% & & & s7ig

0129/ TE-BIO/RCE-M 47 ' Set - A



SET - A

TR JifRd T WO : 3 U } { ferRan 3iek : 150.

Time for marking answers : 3 Hours Maximum Marks : 150

e

1. 39 geA-gheee # fe o e
) S fom 35 3feh
(2) Fefa fomm 35 3T
@) 9 WEE @ S qh - 30w
(4) Hferw Tt ﬁwﬁwww ToreroreTes, Rferen sfigha 30 37w
(5) = T 05 &
(6) EHR U 05 1
(7) PR I AR SRR 05 &
(8) WMHIIH 05 3%

YerF Y 1 31 1 1 Fot 150 T FH AEr §1

2. Ui % S & T OMR ST-9E (MERiE) W #fwd S|

3., e IO IifeRd T WX 1/4 3 IS AT |

4, fre off W ¥ Hege A A T T HEEe W H1 T 9 ¢

5. OMR ST-vie (STeaweiie) 1 T e v Tl o sraraereft 7 ¢/ 7 foret 7 e o o
w5 Hiig o ferae ST g T e worerey 9% TYe # S |

Nd@fe :

1.  This Question Booklet consists of Parts namely :

| (t) Zoology ' 35 Marks
(2) Botdny . 35 Marks
(3) Bio Chemistry and Bio Technology 30 Marks
(4) 'Education Psychology, Education Evaluation and Assessment, 30 Marks

Pedagogy, Teaching Attitude

(5) General Hindi 05 Marks
(6) General English 05 Marks
(7) General Knowledge of Computer 05 Marks
(8) General Knowledge 05 Marks

Each question carries 1 mark. All 150 questions are compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.
4.  Use of any type of calculator or log table and mobile phone is prohibited.
5

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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